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PART A: Vocaﬁuléfy

Directions: Choose the number of the answer (1), (2), (3), or (4} that best completes the sentence. Then mark
your choice on your answer sheet.

1 =The number of ............... people with assets of more than one billion dollars has increased every year.
1) affluent 2) conventional 3) impulsive 4) imminent
2 _After the minister had spoken for ten minutes about the pleasures of playing basketball, he said he
17T SR too long and should return to his sermon.
1) induced 2) digressed 3) impaired 4) proclaimed .
3 =The skilled use of make-up in films is essential to ............... the actors’ best features and makes them
more attractive.
1) occur 2} attain 3) encounter 4) boost
4 =Modern exémples of this type of weaving showed little ............... from traditional patterns.
1) remedy 2) deviation 3) perception 4) confirmation
S<The .cccovvvnnnnn., of his argument was that education should continue throughout life.
1) glimpse Z) essence 3) absurdity 4) nuisance
6 —Because of some problems, the company ............... production at their Norwich plant last year.
1) abated 2) ceased 3) commended 4) repealed

7 =Iran is doing its best to............... a close link with the neighboring countries in order to establish a firm

economy within the country.

1) maintain 2)decline 3) subside 4) deserve
8 - Despite differences in background and outlook. their partnership was basedon ............... respect, trust and
understanding.
1) gentle 2) mutual 3) conscious 4) influential
9 - After the judge’s decision, the police have completed their ............... into the accident.
1) receipts 2) investigations 3) requirements 4) traditions
10 ~The prison service should try to............... prisoners so that they can lead normal lives when they leave
prison.
1) rehabilitate 2) acknowledge 3) bewilder 4) penalize

' PART B: Grammar
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each blank. Then
mark your choice on your answer sheet. '

Most states have, or are developing, tests ...... (11)..... their students' proficiency in state frameworks of
curriculum. Many of these states are including students with limited English proficiency in this assessment
process, but a significant number of LEP students have difficulty ....(12).... these standardized tests. In this
website, Longman is pleased to provide .....(13)..... practice for LEP students by offering sample standardized
reading tests for grades I to 8. The reading tests ...(14).... here are a combination of multiple choice, short-
answer, and long-answer questions. The short-answer and long-answer questions are designed to have
students ....(15).... the information in the passage, analyze it, and organize it for the answer. In this way, these
practice questions test students' analytical abilities, not Jjust comprehension,

1w

1) assessing 2) to assess 3)for assessing 4) to assessing
- -1) passing 2) to pass 3) to passing 4) for passing
= T) additionally effectively 2) additional effective

3) additionally effective 4) additional effectively
& ;) Which provided 2) which are providing 3) provided 4) are provided
. -1) to process 2) process ‘ 3) which process 4) processing
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best choice (1), (2),
(3), or (4).Then mark the correct choice on your answer sheel.
ML -

Passage 1

Dynamic systems Development Method (DSDM), dating back to 1994, grew out of the need to provide an
industry standard project delivery framework for what was referred to as Rapid Application Development (RAD)
at the time. While RAD was extremely popular in the early 1990's, RAD approach to software delivery evolved
in a fairly unstructured manner, As a result, the DSDM Consortium was created and convened in 1994 with the
goal of devising and promoting a common industry framework for rapid software delivery. Since 1994, the
DSDM methodology has evolved and promoting a common industry framework for rapid software delivery.

Since 1994, the DSDM methodology has evolved and matured to provide a comprehensive foundation for
planning, managing, executing, and scaling Agile and iterative software development projects. DSDM is based
on nine key principles that primarily revolve around business needs / value, active user involvement,
empowered teams, frequent delivery, integrated testing, and stakeholder collaboration. DSDM specifically calls
out "fitness for business purpose" as the primary criteria for delivery and acceptance of a system, focusing on
the useful 80% of the system that can be deployed in 20% of the time. Requirements are base lined at a high
level early in the project. Rework in built into the process, and all development changes must be reversible.
Requirements are planned and delivered in short, fixed — length time — boxes, also referred to as iterations, and

requirements for DSDM projects arc prioritized using MSCW Rules:

M- Must have requirements

S- Should have if at all possible

C- Could have but not critical

W- Won't have this time, but potentially later

All critical work must be completed in a DSDM project. It is also important that not every requirement in a
project or time — box in considered critical. Within each time — box, less critical items are included so that if
necessary, they can be removed to keep from impacting higher priority requirements on the schedule. The
DSDM project framework is independent of, and can be implemented in conjunction with, other iterative
methodologies such as Extreme programming and the Rational Unified Process.

16 — What does "grew out of the need" in paragraph one mean?

1) Grew without the need 2) Grew due to the need

3) No longer needed 4) Became greater than the need
17 -DSDM was created because:

1) RAD became popular

2) Software delivery evolyed
3) RAD'S software delivery evolved in an unstructured manner.
4) Common Industry framework for rapid software delivery was devised.

18 - The 80% of the system that can be deployed in 20% of the time is the focus of:

1) Fitness for business purpose 2) DSDM
3) Delivery & acceptance of a system 4) Nine key principles
19 ~Iterations are ...............
1) Requirements 2) Planning & delivering requirements
3) Rework built into the development 4) Fixed — Length time boxes
20 - Which is the best title for the passage?
1) RAD 2) Software development
3) DSDM 4) Industry standard project delivery framework
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Passage 2

Instructions are translated to machine code. In some architecture all machine code instructions are the same
length Le. xed length In other architectures. difterent instructions may be translated into vauable lengths in
machine code.

This is the situation with 8086 instructions which range from one byte to a maximum of 6 bytes in length.
Such instructions are called variable length instructions and are commonly used on CISC machines.

The advantage of using such instructions is that each instruction can use exactly the amount of space it
requires, so that variable length instructions reduce the amount of memory space required for a program.

On the other hand, it is possible to have fixed length instructions, where as the name suggests. cach
instruction has the same length. Fixed length instructions arc commonly used with RISC processors such as the
PowerPC and Alpha processors.

Smce each instruction occupies the same amount of space, every instruction must be long enough to specify
a memory operand, even if the instruction does not use one. Hence, memory space is wasted by this form of
instruction. The advantage of fixed length instructions, it is argued, is that they make the job of fetching and

decoding instructions easier and more efficient, which means that they can be executed in less time than the
corresponding variable length instructions.

Thus the comparison between fixed and variable length instructions comes down to the classic computing
trade off of memory usage versus execution time.

In general, computer programs that execute very quickly tend to use larger amounts of storage. while
programs to carry out the same tasks, that do not use so much storage, tend to take longer to execute.

21 =Machine codes are ................

1) A translation of instructions 2) Architectures

3) Fixed length 4) Variable length
22 ."This" underlined in paragraph two refers to:

1) Translating instructions 2) Machine codes

3) Translating instructions into variables length 4) Architectures

23 « Which of the below statements is untrue?
1) Programs take up less memory using variable length instructions.
2) All fixed length instructions have the same length.
3) Power PC & Alpha are RISC processors. .
4) Variable length instructions use the exact amount of space needed.

24 . Which of the below is the advantage of fixed length instructions?
1) They waste memory space. o
"2) They use the same length.
3) They fetch & decode instructions.
4) Fetching & decoding instructions is easier by using fixed length instructions.

25 .. Which of the below is the best title for the passage?

1) Low memory programs 2) Programming
3) Instruction translation 4) Fixed & variable length instructions

Passage 3 i
Application software consists of programs that direct computers to perform specific information processing

activities for end users. These programs are called application packages because they direct the processing
required for a particular use, or application, which users want to accomplish. Thousands of application packages
are available because there are thousands of different jobs end users want computers to do.

Application software includes a variety of programs that can be subdivided into general — purpose and
application — specific categories.

General — purpose application packages are programs that perform common information processing hobs for
end users. For example, word processing programs, electronic spread sheet programs. database management
programs, graphic programs, communications programs and integrated packages are popul«u with
microcomputer users for home, education, business, scientific and many other general purposes.
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They are also known as productivity packages, because they significantly increase the productivity of end
users. This packaged software is also called off — the shelf software packages, because these products are
packaged and available for sale. Many features are common to most packaged programs.

—“~Many application programs are available to support specific applications of end users. Business Application
programs: Programs that accomplish the information processing tasks of important business functions or

~ industry requirements.
#- Scientific Application programs: programs that perform information processing tasks for the natural,

physical, social, and behavioral sciences, engineering and all other areas involved in scientific research,
experimentation, and development. There are so many other application areas such as education, music, art,

medicine, etc.

TR direct computers to perform specific information processing activities for end users.
1) Softwares 2) Programs called application packages
4 T
4) Users

3) Applications
27 . Which of the below is not a program that performs common information processing?

1) General purpose application 2) Productivity packages
3) Business Application programs 1) Off — the — shelf software packages

| 28 _"They" underlined in paragraph three refers to:
1) General purpose applications
2) Micro — computer users
3) General purposes
4) Performing common information processing hobs
29 _Which of the below statements about application — specific software is not true?

1) They support specific applications.

2) Business application programs, process information for business.

3) Scientific application programs process information for many areas such as education.

4) Scientific application programs & business application programs are both application specific software.

30 _ Which of the below is the best title for the passage?
1) Application software
3) General purpose application

2) Information processing
4) Application specific software
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